Advanced Geometry

You Will Recall

Solve for the variable, show all your work with every step of the process:

1, 4x=24

B, 3x-7=2

13, 4(x-2)= 6x

17. x+6x~9=26

21 3x+4=6x-5

2. —7Tw=-49

6. —4y+2=30

3
10. 8+ Zn= 26

14, 3(x+2)=12

18, 6-x+4x=-6

22. x = 2(90-x) -3

d
3. Z-»—5

7. 34=8-12x

1, 6x+7=8x-13

15, 4+4x=10x+ 10

19. 2x -4+ 76 =180

23. y+4=3y-4
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12, 3x-5=7x+7

16. 6(x+2)-4=-10

20. 3x-9+66=90

24, 2(x-7)= 6x -13



24 Bx-~6+2x=3x+2 2B, 3x +6x +4 = 14x -6

26, 4x + 3 - 2( 5x-4) = 14x +1 27. 3x+7 +2(4x -5) = 25 ~ 3x

28. 4x-2+2(Bx+10)+3x-8= 180 29, 6x+8+2(4>'<~2)'+2(8x+21~(6x+5))=180

Evaluate each expression when x = 4.

6
30. 2x-10 31 %X—4 32, 3(7'—a><)+5. 33. Y1

Evaluate each expression when x = -7 and'y = B,

34, _4(x+y)—5 35, % 36. 3”(2;4 37, 5(2x - 3)+ 3y

Evaluate each expression when x = -2andy = -7.
38, (x+3)y-1} 39. x(2y-7) 41, x - 4y(3x -4) 42, (2x-4)(2y+4)




